i
G
o
=
I

1. %84
54 TN 6 FFERIERG LR TR Y
BT TR P LSRR B BT E N

2. EBNE

1) HBH4

2) JEATHAR

IRBTEES LRI EBET  TH#R

730 HFH

H 4f1 64 44 1A

B S 8 3A31H

3) BABH

4) EHBNE

Etrnad TEMTEER



FEH N

%lljll
I

¥4 | B0 6 FEEREREIIRIE T B S RER ER HEEIEEGS
H H THEBRZEBES
HE - TR - R B L % & BN ER
THEE SR ER = 58, 588, 080
TR = 58, 588, 080
e L] = 77,280 | ¥iEHME
1 7
THEEH =K 463,680 | L&
21 T
TR = 58,047,120 | T ZHESE iR
12 A
THEE R
12 A
fredss = 3,179, 520
e =Y 3, 179, 520
e =K 3,179,520 | EHAAKHEZEICEAT AT
1 =
EFFTEH
1 =
EERE = 2,563, 355
ERER = 2,563, 355
WA EE = 2,563,355 | fftEzdi@E (FiE) (TEEEX
PR 1 X
EHERAM (2 OfEmER<) =K 64, 330, 955
O =K 20, 587, 141
—RE RS = 45,721, 904

Etrnad TEMTEER




AN

%lljll
I

¥W4 | A0 6 FEEREREIIRIE T B SRER ER HEEIREGS
H H E=Eaings
HE - TR - R B AL & 4 %8 BN R
By fillS =K 1 130, 640, 000
— 2 —

Etzoad TEMmTEER



